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Back to examples on p.1:
-

1. Flip win twice. S= [Un, nt,ih, TT3

E= "head once" 3 =E* =(Tu,nT}
F ="tail once"

2. Record the time of firstall call 5 =10,24)

E ="after 2pm"

F ="By 3pm"
3 EnF="between 2-3 pn=(2,3]
-

3. Toss 2 dice. S=3(i,j):ij =1, ...,6}

E ="thesum ofthe dice 210
"

3 =>ECF

F ="the sum is 153

4. Record the sex of children in thefamily:S=GN, B, G, BB, BG, ...

E="just two boys" =(BB3; F
="just two girls"=/49}

EnF =0, mutually exclusive

EuF=(BB, 66)
="two children of same gender"

Remark For multiple events, rotation:
-

I E,nErn....En=E="all Ei ocer"= 1

E, u Ezu...vEn=E, Ei= "at last one E, occurs"

-2-



E Astudentqualifies for financial aid if she

pare both English Finance classes:Q=EnE
Ara is disqualified -she musthave failedI

0 QEureither English or Finance or both.

Generally: En* Euf
↳

Milgala?EcFan
Eire

i
More generally:(E. Ei)=Ei
- C

, Ei)=EE:

Ex A coffee makercomistsof a components

CM works I all a components
word (Ei)I (E)=E, Ei

I am fails - atleast one component fails
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